®

@

Index |

12” HEAW DUTY MOLD CLAMPS

- ADJUSTABLE HEIGHT - 1-5/16” SLOT WIDTH

MACHINED FROM TOOL STEEL - HEAT TREATED FOR GREATER STRENGTH

A\ - | 0 -
N
3 \/ — )\ — — 1-5/16” SLOT — — 11/4 -7
\_/ \ * / PLATEN
HOLES
avY
TRAT FEOR v CLOSED TOE
)sN\DT ENG 6-13/16” FOR
- 870" [=—
ATER MORE
GRE 127 STRENGTH
15° [———
/1 -8 THD N P CLAMP
T - ‘ ‘ WEIGHT
I I \ \
: : | CAUTION | ; 12 LBS. 8 OZ.
1-3/4” I ‘ I ‘ Always position the bolt as close to the mold as possible ‘
for maximum leverage and holding strength.
¢ I I \ \ 3/4”
S | ‘
CM-12A MOLD CLAMP ?
1-7/8” HEX
FLATS /1 1/4 - 7 THREAD
M QUANTITY PRICING
PART NO. DESCRIPTION
— —[—— 1-1/4” SHANK — — 18 | 923 | 24+
| CM-12A | 12" MACHINED MOLD CLAMP | $64.00 | $60.00 | $57.50
‘ G8114760 1 1/4"-7 GRADE 8 BOLT 987| 987| 946
| 3 .
1"-8 HEIGHT
A | 6 AB-2 ADJUSTMENT BOLT 730] 6.95| 6.60
6-3/4” 1"-8 SWIVELHEIGHT
SAB1 9.75] 9.25| 8.80
G8114760 GRADE 8 BOLT I\’;Eé:m";:; iﬁ;TN
(OTHER BOLT LENGTHS AVAILABLE) MW-7A WASHER 1-5/16" 1.D. 7.75 7.55 7.20
ﬁ 1/2"‘« W-7A WASHER 1-5/16" 1.D. 535| 5.15| 4.95
I———1
P
W-7A 2 -
WASHER 3 3 — 3147 2-314”
I . AB-2 w3 ]
ADJUSTMENT HEX —
‘ BOLT FLATS .__\____.
T f 2 — 1"-8THD
LJ |
‘ 3-1/8 — 3/16"
3-1/2
MW-7A 1 |
NO-TURN
~——1-3/16
WASHER — ’»
SAB1
» SWIVEL o | |
ADJUSTMENT HEX
BOLT FLATS | | | epe=m===m—-—d
- \ 1"-8 THD
1-5/16” HOLE

657


http://www.ppe.com/ppeindex.htm
http://www.ppe.com/17pdf/0658.pdf
http://www.ppe.com/17pdf/0656.pdf

	Index: 
	NEXT: 
	PREV: 


